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SECT]ON _ A

Each question carries % mark :

: NUMERICAL SKILLs

Answer the 4 questions.

1. Divide 32 in lhe ralio 5I3

2. Solve (x- z) + 4(x- s) _20 
= x 6forx

Find the totat interest at3. lhe end or 5rh ye.r ro. Rs. 5,000 at

SECTION B

Answerany 4 qLreslions. Each question carries I mark: (4xt=4)

5. f no 'ne w€ g' ,ed d. doe o' tr p \ a -es r0..s..0. rr 30 ii rlo recp.:Ivewe gris asso.rarao w,tF lhe>e vJtues a,e J 5 / z I

6. cr o,rhp compoLfd 1 leresr lor q. 7 ooo ,o. 4 ved., ,t Inter6st s paiabt5 Ld Iye.rly at 6'. p a.

. 
il:ij["j$-*' *r" "r 

Rs. 400 due after s years compou.ded annua]ry ar
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SECTON -C

Answerany 6 qleslions. Each question carries 3 marks :

l tl tfl ll ffifl

(6x3=18)

f433 Wrrethe deiermina.l ol A =li1 8l
9. Wrte down allthe slbsets ol lhe sel A= {1,3,5).

10. The lsrterrn ol a GP is 64 and lhe srh term is 4. ll
what is lhe common ralo ?

lhe sum of alllerms is 128.

11. Ages of two people are in th€ ratio 3 4. Atler 10 years lheir ages would be in

lhe rallo 4: 5 Find their ages.

12. Asellerse s7 goalsandSdogsatBs.2,940and5goalsOdogsal 8s.2,150.
Whai s the selling pice of each ?

13. A machine depreciales ln va ue each year at 10% ol lls prcvious valle and at
lhe end of the fourih year lts val!e s Rs. 1,31,220. Find the originalvalue.

' 14. Solve the quadratic forrnula 2x2 + 8x + 8 = O.

15. Fjnd lhe naturalnumbers whose surn is 20 and whose producl ii 91.

16 lr A = {a, b} and B={2, 3land C={3,5l I nd )Ax (B u C) )(AxB)n(AxC)

17. Flnd the sum of firct 22lerms ol an AP ln which d = 7 and 22nd lerm ls 149.

18. Solve:x y=2
2x2 + 5y2 =23
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(2x8=16)
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SECT]ON D

A.swe any two ques.rors. Each q-eno^ carrie" I marks

1 9. A loan of Fs- 1 ,000 is lo be repaid in I ve equal insta rnenrs, tnteresr being al
6% perannum compound inleresl and I rsl paymenl being made afler a year.
Analyse lhe payment into ihose on account ol inleresi and on accounr oi
amonizalion ol lhe principal.

13 1 1l

Fnd,hei.!e.se.lAwherF A= 2 12L.,)
Lel A, B and C represenl peope who ike appes, bananas and caftols
respectively. The nurnber ol people in A = 10, B = l2 and C = 16. Three p€ople
are slch thatthey enjoy apples, bananas as wellas ca(ots. Two ol ihem like
appesand bananas Lellhree peop e like apples and carrcls. A so, four people
are such thai tey like bananas and canols. Answerthe lollowing questions:

20.

a) How many people ke apples only ?

b) How many peope ke banana only ?

c) How many peope ke carrols only ?

d) Draw lhe Venn dlagram.


